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“The beautiful thing about learning is that no one can take it away from you” — B. B. King

“Live as if you were to die
tomorrow. Learn as If you
were to live forever”
Mahatma Gandhi
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SUBJECT: SECOND LANGUAGE ENGLISH [31E] MARKS: 40

Four choices are given for each of the questions/incomplete statements. Choose the
correct answer and shade the correct choice in the OMR given to you with blue / black
ball point pen. 40x1 =40
41. 'Would you allow me to use your textbook?"
The language function for the above sentence is
A.  seeking information B.  seeking permission
C.  seeking advice D.  enquiring
42. The word which collocates with ‘strong’ is
A.  water B. milk
C. curd D. coffee
43. The word which has three syllables is
A.  cool B. adventure
C. finer D.  prepare
44.  "We do not make mistakes.’
The passive form of the above sentence is
A.  Mistakes are made by us.
B.  Mistakes have been not made by us.
C.  Mistakes were not made by us.
D.  Mistakes are not made by us.
45.  The teacher never................ (come) to school late.
The appropriate tense form of the verb to be used here is
A.  coming B. came
C. comes D. come
46. The appropriate prefix to form the opposite of ‘noble’ is
A. in B. im
C. un D. g
47. | shall meet him today.

The part of speech of the underlined word is a/an



48.

49.

50.
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53.

o4,

A. verb B. adverb

C.  adjective D.  preposition
They ........ when the police surrounded the building.

The correct phrasal verb to be used here is

A. gave off B. gavein

C. gaveout D. gave away
Vismaya is the prettiest girl in the neighbourhood.

The comparative form of the above sentence is

A.  Vismaya is more prettier girl in the neighbourhood.

B.  No other girl in the neighbourhood is as pretty as Vismaya.
C.  Vismaya is one of the prettiest girls in the neighbourhood
D.  Vismaya is prettier than any other girl in the neighbourhood.
If | had attended the classes regularly, I........ learnt a lot.

The correct words to be used here to complete the 'if* clause sentence are

A. wouldn't have B. shouldn't have
C. would have D. should have
His mother hardly knew anything about Sheela, .......... ?

The question tag to be used here is

A. didshe B.  didn’tshe
C.  doesshe D. don'the
Rivers have played ...... important role in shaping ...... history of civilization.

The articles to be used here are

A. athe B. an,the
C. the,a D. ana
Chikkamagaluru is famous ......... coffee.

The preposition to be used here is

A. for B. of
C. out D. after
It was raining....... | stayed at home.

The conjunction to be used here is
A. and B. but



C. SO D. because

55. Whatisyour......cccoeevveennnn. qualification?
The correct form of the word to be used is
A.  educational B.  education
C.  educating D.  educates
56. Inaformal letter, ' Vehicles on roads’ is known as
A.  salutation B.  subscription
C.  superscription D. subject
57. ''You need not to risk his life again." This remark was made by
A.  Swami’s mother B. Granny
C.  Inspector D.  Swami's father

58. Things took unexpected turn for Swami because of

A.  the burglar B.  his mother

C.  the newspaper report D.  the cricket match
59. To Swami, his father looked like a/an

A.  scorpion B.  monkey

C.  monster D. apparition

60. All the following four persons deserve our appreciation. Who stands first among
them?

A.  Dr. Anil Agarwal B.  The tempo truck driver
C.  Dinesh Talreja D. Baleshwar

61. “Oh, I couldn’t thank him,” Baleshwar thought. Who do you think he couldn’t
thank?

A.  The tempo-truck driver B.  The Traffic policeman
C.  The railway employee D.  The on-duty doctor

62. In the meeting of the old man and the Americans, they talked about rain and the
old man’s large family. It was

A.  to mock his large family B. tobreaktheice
C.  acustom of the Americans D. to make themselves comfortable.
63. ¢l argued with him but it was useless.” The argument took place because

A.  the old man was not ready to accept more money than he agreed upon.



64.

65.

66.

67.

68.

69.

70.

B.  the children troubled Americans

C.  the land was much more than eight acres

D. the narrator called Americans as good people

When the story-teller offered the old man double the price he

A.  jumped with joy B.  took off his gloves

C. stood up in anger D.  bowed to all in the room
Dr. Ambedkar was offered the post of the first law minister of India because
A.  he was the chairman of the committee of the constitution

B.  he had great skill in law and legislature

C.  he belonged to the depressed class

D.  he expressed his desire to become the law minister

Mookanayak, Bahishkrit Bharat and Samata were

A.  voice mails B.  newspapers
C.  Political parties D.  importing books

Anant astonished his guru by

A.  asking a number of questions.

B. learning to play the sitar very quickly.

C. composing his own tunes.

D.  playing the sitar better than his guru.

The speech of the moustachioed man was

A. interesting B. boring

C. notclear D.  very fast
""We will have to look for a new school”

This remark was made by

A.  Satish's mother B.  brother Inder
C.  friend Surender D.  Satish's father
Sathish did an uncharacteristic thing. What was it?

A.  Satalone in the house

B Hugged his father tightly

C.  Drew the picture of a bird

D Jumped high



71. The poet’s grandma learnt to climb the tree when she was...........
A. tenyears B.  five years

C.  sixty two years D. sixyears

72. The poem Grandma climbs a tree depicts .................

A.  Ruskin Bond’s love for his family ~ B. The childish habits and desires of
granny

C.  Anold woman’s foolishness D.  risk involved in climbing

73. Butmercyis.....
The appropriate option to complete this line of the poem is

A.  above this sceptred sway; B. the dread and fear of kings;

C.  asthe gentle rain from heaven D.  the force of temporal power,
74.  In the poem 'Quality of Mercy' the ‘sceptre’ symbolizes

A.  kindness B. power

C.  divine grace D. fatigue
75.  ‘The song of India’ is a dialogue between

A.  the people of India and some seers  B.  the poet V K Gokak and the sun
God

C.  mother India and soldiers D. the poet V K Gokak and mother
India

76.  ‘Of your children that died to call you their own’ Here ‘children’ refers to

A.  the youth of India B.  the soldiers who fought for the
country

C.  the poet’s children D. the beggars of the country
77.  ‘his run-down shoes have paper in them'. This suggests that the Jazz player

A.  had come running B.  was poor

C.  was agood sportsman D.  kept his notes in his shoes
78. Youtalk..............

The appropriate option to complete this line of the poem is
A.  of wondrous things you see, B.  day or night myself | make

D.  are the blessings of the sight, C.  isthat thing call’d light,



79.

80.

Mohan and Suman kept newspaper-covered parcel in

A.  the bed room B.  the puja room
C.  the study room D.  the dining room
Hanifuddin hailed from a family of

A.  teachers B.  doctors

C.  soldiers D.  musicians
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Four choices are given for each of the questions/incomplete statements. Choose the
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41

Get down at K.R .Circle. Walk a few yards. On to your left, you find C.P.1.’s
office.
The language function for the above sentence is

A. instruction B. order

C. giving direction D. suggesting
The word which collocates with ‘rare’ is

A. gift B. walk

C. touch D. mind

The word which has two syllables is
A. chair B. table
C. whole D. pair

‘People helped the girl.’
The passive form of the above sentence is
A.  Thegirl is helped by people

B. The girl helped by people
C. The girl was helped by people.
D.  The girl has been helped by people

Hewas ............... near the door of another train.
The appropriate tense form of the verb to be used here is
A. standing B. stood
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C. stands D. stand
The appropriate prefix to form the opposite of ‘respect’ is
A. im B. dis

C. un D. ir

Satish felt miserable.

The part of speech of the underlined word is a/an

A. verb B. adverb
C.  adjective D. preposition
Students come to school to study.

Pick the correct ‘infinitive’ from the above statement.

A. to study B. come

C. students D. to school

Peacock is the most beautiful bird.
The comparative form of the above sentence is

Peacock is more beautiful then any other bird.

A
B. Peacock was more beautiful than any other bird
C Peacock was the more beautiful bird.

D

Peacock is more beautiful than any other bird.

If I had brought my camera, we ................ taken some photographs.
The correct words to be used here to complete the ‘if* clause sentence are
A.  wouldn’t have B. would

C. would have D. will

Children play in the playground .................... ,?
The question tag to be used here is

A. do they? B. aren’t they?

C. didthey? D. don’tthey?
Sureshis.......... MLA. He lives ..................... simple life.
The articles to be used here are

A. a the B. an,a

C. thea D. aan

The temple is ................ the banks of river Tunga.
The preposition to be used here is

A. for B. at

C. on D. by

Suma is intelligent ............. her brother is dull.
The conjunction to be used here is

A. and B. or

C.so D. but
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Some people always g0 0N .......c.ceeeeneeene
The correct form of the word to be used is
A. complained B. complainingly
B. complaining D. complaints
In an informal letter, “subject” is ......... used
A.  compulsorily B. rarely
C. never D.  occasionally
The important thing according to Swami’s father was
A.  strength B. courage
C. age D.  willingness
Swami saw a moving creature in the room. It was ......
A. his shadow B. ascorpion

C. aman D. adevil

“You let him sleep where he likes, you need not risk his life again.”
How did Swami’s father react to it?

A. He forced his son to sleep in his office room for one or two days
B. He agreed to do so as Swami’s mother suggested

C. He said, “Spoil your son as much as you like.”

D. He said, “Let him sleep from tomorrow onwards.”

The incident of Roma’s accident took place on

A. January 26. 2012 B.  August 20, 2004
C.  December 10, 2010 D. June 13, 2012
‘When Roma met with an accident, no one volunteered because

A. they were afraid of getting involved in courts or police

B. they were busy in their works

C. they were callous

D. They were strangers to Roma

‘I do not like to have you speak to me in that manner.” Don Anselmo said to
A. narrator B.  Senator Catron
C.  surveyor D.  Americans

Don Anselmo had come to the office for the first time

A. to meet the lawyer

B. to meet the Americans

C. tosign the sale deed

D. to argue that he was the owner of the land.

64. Don Anselmo refused to take double money for the land because

65.

A. he was afraid to take more

B. he did not know the value of land

C. hewas aman of principles

D. story teller failed to convince

‘Nehru described Dr. B.R. Ambedkar as the Symbol of
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A. love B. liberty
C. friendship D. revolt

Dr. Ambedkar described the methods of civil disobedience, non-cooperation and
satyagragha as the................

A. right path B. grammar of anarchy

C. boon D. useful tools

The truth which frightened Smitha and her parents was

A. Ananth had not many days to live

B. Smitha could not take Ananth to the concert

C. Anant knew that he was suffering from cancer

D. Anant would not like to stay in the hospital

The native place of Smita’s family was

A. Bombay B. Gaganpur
C.  Sollapur D. Pune

Satish was helped to learn and pronounce words by

A.  Satish’smother B.  brother Inder

C.  friend Surender D.  Satish’s father

The books made Satish feel depressed and left a deep impression on his sensitive
mind because........

A. He was depressed by his state of condition

B. They were serious books meant for adults

C. He was not interested in reading

D. He wanted to become an artist

The grandma was happier in..............
A. Vvillage B. trees
C. lift D. town

To Grandma, sleeping on the bed for a week was like .....

A.  heaven B. prison

C. hell D.  home stay

It droppeth as the gentle rain from heaven”. Here, the word ‘it’ refers to
A. Affection B. love

C. mercy D. honesty

The quality of mercy blesses -------------------

A. The giver B.  the taker

C. Dboth the giver and taker D. none

In the poem “ The Song of India”, ‘The book of morrow’ refers to

A. technologized India B.  bright future of India

C. India with beggars and lepers D.  rock cut temples of India



76. In the poem ‘the song of India” the poet calls the temples as

A. Symbol of sculpture B. monuments
C. holy buildings D. epicsinstone
77. The face of the jazz musician is wrinkled because if his...
A. Hard work B. Troubles
C. Wearies of living D. Oldage
78. What can the blind boy never enjoy?
A.  benefits of money B.  benefits of sight
C.  benefits of sun D.  benefits of health
79. Mohan burst out again, ‘Amma, how can you trusta .............. ?
A.  person B. neighbour
C. friend D. policeman
80. The sector in Kargil, now called ‘sub-sector Hanif’ in memory of
Hanifuddin’s bravery.
A. Kargil East B. Turtuk
C. North D.  West
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41. You have helped me a lot. I’m highly grateful to you.

The language function for the above sentence is

A.  offering B.  suggesting

C.  expressing gratitude D.  complimenting
42. The word which collocates with ‘self ’ is

A.  discipline B. myself

C. mother D. stars
43. The word which has two syllables is
A. world B. continent

C. light D. again
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‘The teacher does not waste time.’

The passive form of the above sentence is

A.  Time was not wasted by the teacher.

B.  Time is not wasted by the teacher.

C.  Time will not be wasted by the teacher.

D.  Time would not be wasted by the teacher.
Surendra...... (be + study) in Govt. High School last year.

The appropriate tense form of the verb to be used here is

A.  isstudying B.  studying

C. was studying D.  arestudying
The appropriate prefix to form the opposite of ‘mortal’ is
A. in B. im

C. un D. mis

He was much pleased. The part of speech of the underlined word is a/an
A. verb B. adverb

C.  adjective D.  preposition

Can you....this word in dictionary? The correct phrasal verb to be used here is
A. look on B. lookup

C.  look off D. look out

Vivekananda was one of the greatest saints in the world.

The positive form of the above sentence is

A.  Vivekananda was a great saint.

B.  Very few saints were as great as Vivekananda.

C.  No other saint was as great as Vivekananda.

D.  Vivekananda was greater than any other saint.

If I had been in time, I ......... missed the bus.

The correct words to be used here to complete the ‘if’ clause sentence are

A.  wouldn’t have B.  shouldn’t have
C.  would have D.  should have
Ajay will come tomorrow, ................ ? The question tag to be used here is

A. will he B. won’t he



C. does he D. don’t he

52. Lakshmiis advocate. She is lady of principles.
The articles to be used here are
A. the, an B. an, a
C. the,a D. aan
53.  This house was built......... my grandfather. The preposition to be used here is
A in B.  Dbetween
C. by D. with
54. | went to the market ....... bought some mangoes.

The conjunction to be used here is

A. and B. but
C. so D.  because
55. Ineedyour....... at this moment. The correct form of the word to be used is
A.  present B.  presenting
C.  presence D.  presented

56. In a formal letter, ‘Yours sincerely’ is known as
A.  salutation B.  subscription
C.  superscription D.  subject
57. “Itis only a question of habit. You must cultivate good habits”.
This remark was made by
A.  Swami B. Granny
C. Inspector D.  Swami’s father
58.  When the classmates came to know that Swami had done a brave deed, they
A.  looked him with respect B.  patted his back
C.  called him a true scout D.  made him their leader

59. ‘Aiyo! Something has bitten me.” The ‘Something’ was

A. ascorpion B. a tiger
C. adevil D. Swami
B0.  ceiiiiiiiiiian volunteered to help Baleshwar.
A.  apassenger B. atempo truck driver
C.  Dinesh Talreja D. Vijay

61. Roma’s fall from the train could not be heard as

A.  people were talking loudly B.  she fell unconscious
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C. the train made a loud noise D.  the people in the train were busy

“This was bad, Don Anselmo”. This was said by

A. Narrator B.  Senator Catron

C.  Surveyor D.  Don Anselmo

Don Anselmo removed his hat and gloves carefully because

A.  they were new and costly

B. it was the custom of the people in Spain

C.  hedidn’t want them get spoiled

D. it was asign of respect

The Americans bought land from Don because

A. they liked Don B. they had plenty of money
C. they wanted to live peacefully D. they were also agriculturists
‘The constitutional adviser to Dr. B. R. Ambedkar was

A. B.NRau B. K.M Munshi

C.  Pandit Nehru D.  Sardar Patel

To wipe out caste discrimination in India, Dr.Ambedkar reminded

A.  the Depressed Classes of their rights to equality with the higher castes
B.  the higher castes of their duty towards the Depressed Classes

C.  the Government to abolish castes

D. all the classes to ascertain their rights

‘I spoke to him and he will come tomorrow morning.”

This remark was made by

A. Smitha B. Smitha’s father

C.  Smitha’s mother D.  Aunt Sushila

“Did you hear him”? He asked. Here ‘him’ refers to

A.  Pandit Ravishankar B. Usthad Allah Rakha

C.  Moustachioed man D.  Author

Satish read a number of books on great personalities.

What effect did these books have on Satish?

A.  They made him happy B. They made him feel depressed

C.  They made him confused D. They made him learn the value



70.

71.
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“Satish! Why didn’t you come to school today?” This remark was made by
A.  teacher B.  brother Inder

C.  friend Surender D.  Satish’s father

What was grandma’s reply when people asked her to stop climbing trees?
A.  she accepted the advice

B.  she would grow old disgracefully

C.  she would climb for some more days

D.  she would consult the doctor

The poet’s father fulfilled the wish of his mother by

A.  consulting the doctor

B rescuing her

C.  Dbuilding a house on tree top

D

suggesting her to grow old gracefully

It is enthroned in the .........cocevvviiiinnnenn.

The appropriate option to complete this line of the poem is

A.  to God himself B. the dread and fear of kings;

C.  show likest God’s D.  heart of kings

‘His sceptre shows the force of temporal power’ Here ‘sceptre’ is identified with
A. afarmer B. apoor man

C.  ateacher D. aking

In the poem ‘The song of India’ the poet wished to sing about

A.  the holy rivers of India B.  the snow covered Himalayas

C.  the forests of the south D.  the birds and animals

The mother advised the poet, Gokak to sing about
A.  the poor and sick people in the country

B.  the rich and famous people of India

C.  the scientists who made many discoveries

D.  the pilgrims who went to many holy places

“he is no longer a man, no not even a Black man”. What else is he?



A. a teacher B. a bird

C.  anancient mariner D. awhite man
78. My day or night ......
The appropriate option to complete this line of the poem is
A.  ever keep awake B.  make it day or night?
C.  isthat thing call’d light, D.  myself | make
79. Hanif had dreamt that
A. he would be a great drummer B. he would rise up the ranks
C. he would be a teacher D. he would be a singer

80. The police expected the students

A.  to shout slogans and cause violence

B to walk silently without shouting slogans
C.  toshout slogans loudly
D

to return home silently
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41.  If you don’t mind could I take your book?
The language function for the above sentence is
A.  seeking information B. questioning
C.  seeking help D. seeking permission
42. The word which has one syllables is
A.  story B.  charger
C. smell D. ago
43. The appropriate prefix to form the opposite of ‘Fortune’ is
A. un B. dis
C. mis D. in

44. China is the most populated country in the world



The positive form of the above sentence is

A. No other country in the world is as populated as china

B very few country in the world is as populated as china

C. China is more populated than any other country in the world
D

No other country in the world is not as populated as China

45. Mukesh is coming tomorrow, ................ ? The question tag to be used here is
A. ishe B. isn’the
C. doeshe D. don’the
46. In an official letter, ‘Respected sir/madam’ is known as
A.  salutation B.  subscription
C.  superscription D.  subject
47. Heisa.....ceeevvennns person.

The correct form of the word to be used is

A. Knowledge B. Knowledgely
C. Knowledgeable D.  Knowledging
48. The passengers did not help Roma they were afraid of police.

The conjunction to be used here is
A. and B. still
C. so D.  because
49. The word which collocates with ‘Multi’ is
A. story B.  vitamin
C. vegetable D.  fruits
50. ‘Lavanya is painting a picture.’
The passive form of the above sentence is
A. A picture has painted by Lavanya
B. A picture was being painted by Lavanya
C. A picture is painting by Lavanya
D. A picture is being painted by Lavanya

51. India was................ by the British for 200 years.
The appropriate tense form of the verb to be used here is
A.  ruling B. ruled
C. rules D. rule

52. If she had studied hard, she ........ccccceuveeenn. passed the examination.



The correct words to be used here to complete the ‘if’ clause sentence are

A. wouldn’t have B. will
C. would have D. should have
53. Hehas ...ceoovvvevnnnnnn. screen as an actor.

The correct phrasal verb to be used here is

A. appeared on B.  appeared with
C. appeared to D. appeared out
54. The sprinter won the_ gold medal. The part of speech of the underlined word is
alan
A. verb B. adverb
C.  adjective D. noun
55. They have a discussion............ football.
The preposition to be used here is
A. to B. about
C. for D. from

56. Baleshwar Mishra has ..... very different story. The youngster from Mirzapur, is
....... unemployed high-school dropout.
The articles to be used here are
A. a the B. an,a
C. the,a D. aan

57. Baleshwar requested the tempo truck driver for his cell phone ------
A. to inform doctors about the accident
B. toinform Roma’s family about her accident
C.  toinform police station about the accident
D. toinform railway guard about the accident

58. The voice, “There’s a girl by the tracks” cried out by

A. Baleshwar
B. arailway guard
C. atempo truck driver
D. passengers in the opposite train

59. “Something was moving down.” What was that something according to Swami?
A. ascorpion B. atiger
C. adevil D. aburglar



60. Swami said that there were scorpions behind the law books. He said so because
A.  He saw the scorpions behind the books before
B. the room was dusty
C.  he wanted to escape from his father’s command
D. he was afraid of scorpions
61. Swami thought the safe, compact and reassuring place in the office room was
A. under the bench B.  onthe ground
C. onthe cot D. onthe table
62. Don Anselmo did not sell the trees because..............
A.  trees were like children to him
B. he thought they did not belong to him but to the children
C. he had grown them in memory of his ancestors.

D.  he wanted his surroundings to be green

63. ‘A piece of land where fruit trees are grown’ is called .......
A a cottage. B. aforest
C. an orchard D. acreek

64. “These Americans are Buena gente”

The meaning of ‘Buena gente’ according to the context is

A. principled people B. rich people
C. good people D. honest people

65. The Constitution is document.
A. an unimportant B. aneeded
C. afundamental D. anoral

66. Dr. B.R. Ambedkar fought against throughout his life.
A. the corruption B. social discrimination
C. child labour D. colour discrimination

67. They did not voice their fears. Here, ‘they’ refer to
A. doctors B. Anant’s teachers
C. Anant’s friends D. Anant’s family members
68. The audience respected the Great master Pandit Ravi Shankar by
A. clapping loudly B. whistling loud
C. standing ovation D. applauding
69. Satish’s father inspired him to learn a great deal by.......



A painting pictures B.  singing songs

C. reading books D.  walking in nature
70. Satish’s father felt that artists.........

A. do not make much money B. cannot read and write

C. are lazy and waste time D. make too much money

71. The grandma learnt the art of climbing trees from her .....
A. loving brother B. loving mother
C. loving son D. loving husband
72. Responsibility of building a house on tree top was taken up by ........
A. the poet B. poet’s father
C. her neighbour D. loving relatives

73. Mercy is an attribute to -------

A. King B. God
C. people D. power
74. The speaker says that the quality of mercy is twice blessed because---------
A. itis very powerful B. it blesses both the giver and receiver
C itisthe mightiest D. itisan extreme power

75. ‘Said the mother in indignant words’. This shows that the mother was
A. very happy B. calm
C. nervous D. angry

76. ‘Shall I sing of Himalayas with their snow born peak’? Who does ‘I’ refer to?

A. Theartist B. The mother India
C. The Priest D. The poet
77. The Jazz player is transformed to a bird when he
A.  stops playing music B. holds the saxophone
C. begins playing music D. dances while playing

78. The poem “The Blind Boy” is addressed to

A. his friend B.  his family members

C. the poet D.  the people with sight.
79. The students were marching to give...... to the collector.

A. anotice B. warning

C.  mysterious parcel D. qift

80. Hanif’s mother was a.............



A. dancer B. vocal artiste

C. official D. painter
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41.  “If you are suffering from fever, you should consult a doctor.”
The language function for the above sentence is
A.  seeking information B.  seeking permission
C. giving advice D.  enquiring
42. The word which does not collocate with ‘home' is
A. stay B.  house
C. work D. guarantine
43. The word which has two syllables is
A. group B. moon
C. ago D.  examination
44,  'Students were playing cricket.
The passive form of the above sentence is
A.  Cricket are being played by students
B.  Cricket is being played by students.
C. Cricket was being played by students.
D. Cricket has been played by students.
45. Students .............. ( bet+ read) now.
The appropriate tense form of the verb to be used here is
A.  were reading B.  was reading
C. arereading D. Is reading

46. The appropriate prefix to form the opposite of ‘correct’ is



A. un B. im

C. in D. g
47.  She could climb trees quickly.
The part of speech of the underlined word is a/an

A. adverb B. verb

C. adjective D. noun
48. The poet ........his grandma very well.
The correct phrasal verb to be used here is

A. looked into B. looked after

C.  looked out D. looked at
49. ‘Bengaluru is bigger than any other city in Karnataka.’
The superlative form of the above sentence is

A.  No other city in Karnataka is as big as Bengaluru.

B.  Bengaluru is one of the biggest cities of Karnataka.

C.  Very few cities are as big as Bengaluru.

D.  Bengaluru is the biggest city in Karnataka.
50. If I had money, I.......... bought a new car.

The correct words to be used here to complete the *if* clause sentence are

A. would have B.  shouldn't have
C. wouldn’t have D. should have
51. I am not going to market today.

The question tag to be used here is

A. amn't 1? B. aren’t [?
C. don’t I? D. am |?
52. .....friend in need is .... friend indeed.

The articles to be used here are
A. athe B. an,the
C. a,a D. an,a
53. Swami used to sleep ........ his granny.
The preposition to be used here is

A. in front of B. beside



C. around D. far
54, ceeeiinnn. he was ill, he attended the examination.
The conjunction to be used here is

A. Thus B. but

C. so D.  Though
55. He has written the novel very .............

The correct form of the word to be used is

A beautiful B.  beautifully
C. beauty D.  beautify
56. In a formal letter, ‘Respected sir/madam’ is regarded as
A. salutation B.  subscription
C. from D.  subject

57.  “I think he must have been a very strong and grown-up person, not a boy at all.”

This remark was made by

A. Swami’s mother B. Granny
C. Swami D.  Swami's father
58. “Leave alone strength, can you prove you have courage?

These words are said by

A.  Granny B.  Swami’s mother
C. Swami’s father D. the cook

59. Swami did not want to become a/an.......
A.  doctor B.  bus conductor
C. railway guard D. engine driver

60. Who helped Baleshwar to carry Roma to the hospital?
A.  Dr. Anil Agarwal B. The tempo truck driver
C.  Dinesh Talreja D. The cop

61. Baleshwar implored motorists to help. Here the word ‘implored’ means
A.  shouted B.  requested.
C.  ordered D.  instructed

62. “These Americans are buena gente”. These words are said to.

A. Don Anselmo B.  American people



C.  The author D. Villagers of Rio en Media
63. Don Anselmo could not sell trees, because.....

A.  he was not the real owner of that orchard.

B.  Americans were not ready to give him more money.

C.  hethought that children were the real owners of the trees
D.  Americans wanted to buy only the land and house

64. | have agreed to sell my house and land for twelve hundred dollars and that is the
price.

These words are said to.

A.  Don Anselmo B. the author
C. children of Rio en Medio D. the American people
65. Dr. B. R. Ambedkar was greatly influenced by the life and the work of
A.  Chacha Nehru B.  Mahatma Gandbhiji
C.  Mahatma Phule D.  Bhagat Singh

66. Dr. B.R.Ambedkar bought 32 boxes of books when he attended

A.  round table conference in London B. meeting in Newyork
C. congress session D. function of Hitakarini sabha

67. Anant was a big fan of ......
A.  Ustad Allah Rakha
B.  Pandit Ravishankar
C.  Latha Mangeshkar

D. S P Balasubramanyam

68. Ustad Allah Rakha was a ........
A.  Sitar maestro B. Tablaplayer
C. Jazz player D.  Tennis player

69. '"Why didn’t you come to school today?”
This remark was made by
A.  Satish's mother B.  brother Inder
C.  friend Surender D.  Satish's father
70. My son is not dumb, sir! His hearing is a little bad.

These words were said by...



A. Satish’s mother B. Satish’s father

C.  Satish Gujral. D. Inder

71. The poet calls his grandma a genius, because....
A.  she was very intelligent B.  she was his grandma.
C.  she could climb trees at 62. D.  she could drink vine.

72. 'When people asked grandma to stop climbing trees, she said that .......
A.  She would accept their advice B.  would grow old disgracefully
C.  would climb for some more days D.  would consult a doctor
73. Itdroppeth.......
The appropriate option to complete this line of the poem is
A. Ofmercy is not strain’d; B.  asthe gentle rain from heaven
C. the place beneath. It is twice blest: D.  him that gives, and him that takes.
74. The speaker in the poem ‘The quality of mercy’ is
A.  Antonio. B.  Shylock.

C. Bassanio. D. Portia.

75. V.K. Gokak wants to sing about....
A. Himalayas and the three oceans.  B. strikes and class war.
C. beggars and lepers D.  filth and dirt

76.  Mother India wants V. K. Gokak to sing about

A. the greatness of the country. B.  negative aspects of the country.
C. freedom fighters. D. great leaders of the country.

77. Jazz player stands like

A. a strong man B. aweak person
C. an ancient mariner D. aking
/8. My day.....
The appropriate option to complete this line of the poem is
A.  ornight myself | make B.  Isleepor play;
C.  could I ever keep awake D. me ‘twere always day.

79. ‘I haven’t come to trouble you’

These words were said by...



A. Mohan B. Patil Sahib

C. Manju D. Suman
80. Life taught Haneef to be
A.  cheerful B.  careless
C.  responsible D.  none of these
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41. ‘I would love to be a part of the celebration if I was there.’
The language function for the above sentence is
A. advice B. ability
C. expressing desire D.  seeking information
42. The word which collocates with ‘prompt’ is
A, driver B. payment
C. action D. picture
43. The word which has three syllables is
A. conversation B.  determination
C. consonant D.  probability
44, Saharsh has prepared two projects.
The passive form of the above sentence is
A. Two projects has been prepared by Saharsh.
B. Two projects have been prepared by Saharsh.
C. Two projects had been prepared by Saharsh.
D. Two projects were prepared by Saharsh.
45.  Baleshwar................. the still-moving train.



The correct phrasal verb to be used here is

A. jumped from B. jumped in
C. jumped off D. jumped of
46. He.............. (have + live) in Mysore since 2019.
The appropriate tense form of the verb to be used here is
A. has lived
B. have lived
C. had lived

D. had been living
47. The appropriate prefix to form the opposite of ‘well’ is
A. dis B. un
C. mis D. in
48.  Which place in the room did Swami think was safe?
The part of speech of the underlined word isa/ an
A. noun B. adverb
C. adjective D.  pronoun
49.  Ashoka was one of the greatest Indian kings.
The positive form of the above sentence is
A. No other king of India was as great as Ashoka.
B. Ashoka was greater than most other Indian kings.
C. Very few Indian kings were as great as Ashoka.

D. Ashoka was greatest than most other Indian kings.

50. If you had started early, you .......c.cccc..... missed the train.
The correct words to be used here to complete the ‘if’ clause sentence are
A. would have B. wouldn’t have
C. should have D. wouldn’t has
51. She could barely speak, just nodded, ?
The question tag to be used here is
A.  couldn’t she B. canshe
C. wasn’t she D. could she
52.  Neil Armstrong made ____ first footprinton ___ moon.

The articles to be used here are

A. a an B. a,the



C. the a D the, the

53. He divided his property equally his two sons.
The preposition to be used here is
A. among B.  between
C. within D. for

54. Afeeling of a very great surprise.

One word for the above sentence is

A. astonishment B. miracle
C. maestro D. enchantment
55.  He, as well as you, intelligent.

Choose the correct verb form from the alternatives.

A. are B. am

C. has D. is

56. They said, “A bad carpenter quarrels with his tools.”

Choose the correct reported form from the alternatives.

A. They said that a bad carpenter quarrelled with his tools.
B. They said a bad carpenter quarrels with his tools.

C. They said that a bad carpenter has quarrelled with his tools.
D

They said that a bad carpenter quarrels with his tools.

57.  When father gazing at the newspaper, Swami rose silently and tiptoed to his
bed
because
A. he tried to escape from his mother.
B. he tried to escape from his father.
C. hetried to escape from the newspaper.
D. he tried to escape from the tiger.
58. Why did Swami realize that the matter had gone beyond his control?
A. When a challenge became command.
B. When a challenge became request.
C. When a challenge became frighten.
D

When a challenge became suggestion.



59.  Baleshwar disagreed to take Roma to Airoli hospital because:

A.
B.
C.
D.

He knew another hospital nearby.
The truck driver didn’t like to go to Airoli hospital.
There was no operation theatre in that hospital.

Roma’s brother asked him not to take her to that hospital.

60. Nobody volunteered to help as............

A.
B.
C.
D.

they were afraid of getting involved
they didn’t know the girl
they knew Baleswar would help

they waited for the police

61. The fourteenth amendment of the constitution of the USA greatly influenced on

Ambedkar because

A
B.
C.
D.

it gave freedom to the Americans.
it gave freedom to the Black Americans.
it gave freedom to the White Americans.

it gave freedom to the depressed classed of India.

62. What happened, if no limitation was imposed upon the authority of the three

Organs?
A.
B.
C.
D.

There will be complete tyranny and complete oppression.
There will be complete tyranny and complete untrammelled.
There will be interference among them and misused the power.

There will be misused the political power and judicial power.

63. Match the following:

A

OO0 W > &~ 0w N e

B
Seller a)  The Americans
Buena gente b)  long, double-breasted coat
Prince Albert c)  Comedian
Charlie Chaplin d)  Theold man

1—d,2—a,3—b,4——c
1—d, 2—a,3—c,4—b
1—a, 2—bh, 3—c, 4—d
1—d,2—bh,3—a,4—=c



64. Behind Don Anselmo walked one of his innumerable kin. The underlined word

means
A. The old man had a number of children.
B. The old man had a number of trees.
C. The old man had a number of relatives.
D. The old man had a number followers.
65. It took months of negotiation to come to an understanding with the old man
because he
A. could not hear properly.
B. wasnotinahurry.
C. didn’t like the Americans.
D. couldn’t understand the language
66. “Take him home, Give him the things he likes, indulge him”.
The intention of the doctors was ----------- :
A. the boy had not many days to live
B. the boy would be cured at home
C. the boy would be happy at home
D. the boy had many days to live at home
67. Anant smiled and said to Smitha, “Enjoy yourself, Lucky you”. These

A. came out in painful gasps
B. came out naturally
C. wished her to attend the concert
D. expressed Anant’s happy feelings
68. A great and beautiful life went out of him, gently, very gently, which means:
A. Anant died happily at the end of the concert in auditorium.
B. Anant died by listening the music of Pandit Ravi Shankar.
C. Anant would be cured by attending the concert.
D. Anant’s dream came true and live happily.
69. Surrender repeated the question three times before Satish because:
A. Satish was deaf and dumb.
B.  Satish lost his sense of hearing.

C.  Surender lost his sense of hearing.



D. Surender couldn’t say the question properly.
70.  Satish didn’t want to go to school. The reason is
A. The children of the school would make fun of his deafness
B.  The teachers of the school would make fun of his deafness
C.  Father suggested him not to go to formal school

D. Satish didn’t believe in formal education

71. Mother India sat and wrote the ‘Book of Morrow’. Here she wrote about...........

A. the future of the country
B. the future of the farmers
C. the future of the poet VK. Gokak
D. the future of the Himalayas
72. “Of class—war and its correlate.” Here class war between...........
A. privileged and unprivileged
B. the poet and the mother land
C. seers and prophets
D. the poet and the beggars
73.  “For in all the garden there wasn’t a tree. She hadn’t been up.”
This implies that
A. there were no trees left in the garden.
B. she could climb up but not come down a tree.
C. she had planted the trees in the garden.
D. she had climbed all the trees in the garden.
74.  The poet’s grandmother was a genius. In the context ‘genius’ means:
A. agenerous person
B. ahappy person
C. agifted person
D. akind hearted person
75.  The poet says that the quality of mercy is twice blessed because.....
A. it blesses both the giver and taker.
B. itissent from the heaven.
C. itis mightiest in the mightiest.
D. itis earthly power of the kings.
76.  Mercy drops as gentle rain from heaven. The figure of speech used here is....



A. simile B. metaphor
C. alliteration D. personification
77.  “..now preaching it with words of
Screaming notes and chords.”
These lines show that the Jazz player
was shouting very loudly
wanted to be louder than the other players

had an old saxophone

oo w >

wanted to convey a message through his music
78.  One of the following statements is wrong. Choose the correct option.
A. The blind boy prays to God to bless him eye sight.
B. The blind boy is happy with what he has.
C. The blind boy can feel day and night in his own way.
D. People feel sorry for the blind boy.
79.  College going students holding aloft a picture of Mahatma Gandhiji and
marched towards police station because
A. ateacher and follower of Gandhiji, had been arrested.
B. ateacher and adviser of Gandhiji had been arrested.
C. they wanted to join Quit India Movement.
D. they were celebrating Independence Day in the village.
80. Hanif joined Indian Army as a soldier. because
A. he knew that life for him was short.
B. his mother forced him to join army.
C. he wanted to lead ‘ekdam bindas’ life.
D.

he wanted to serve the nation.
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Identify the Language function of the under lined sentence.
Student: May | speak to you for a moment?



Head master: Well, I’m busy now. Come at six O’ clock if you are free.

A. request B. command
C. rejection D. advice
42. The word which collocates with ‘brisk’ is
A. walk B. journey
C. run D. dance
43. The word which has one syllable is
A. cupboard B. politely
C. shoe D. eraser

44.  Are they ploughing the field?

The passive form of the above sentence is
A. The field is ploughing by them.

B. Is the field being ploughed by them?
C. Was the field ploughing by them?
D. Was the field being ploughed by them?

45.  The school --------- (open) in the month of July.
The suitable tense form of the verb to be used here is
A. open B. opened
C. opening D. opens
46. The appropriate prefix to form the opposite of ‘charitable’ is
A. uncharitable B. incharitable
C. mischaritable D. ilcharitable

47.  Sathish Gujral’s life of achievement is ample proof that physical disability is no

barrier to success.
The part of speech of the underlined word is a/an

A. verb B. adverb
C. adjective D. pronoun
48. Some animals ---------- an unpleasant odour that deters attackers.
A. gavein B. gave out
C. give away D. give off

49.  Shakespeare is the greatest of all dramatists. The positive form of the above

sentence is
A. Shakespeare is greater than all other dramatists.

B. No other dramatist is as great as Shakespeare
C. Shakespeare was dramatist
D. Shakespeare is the greatest dramatist in the world.

50. If the tempo truck driver had not helped Baleshwar, He -------- saved Roma.
The correct word to be used here to complete the “if’ clause sentence is
A. would have B. wouldn’t have
C. could have D. shouldn’t have
51. Let’s take a little rest before we start again, --------- ?
The question tag to be used here is.
A, will we B. would we

C. shall we D. should we



52. Dr. Ambedkar had ----- clear perception of the mutuality of ------ three pillars of
state. The articles to be used here are

A. a, the B. an, the
C. the,an D. aan
53. Pandit Ravi Shankar -------- Ustad Allah Rakha went up the wooden staircase
and knocked softly on the door. The conjunction to be used here is
A. with B. and
C. along D. but
54.  One day Satish was looking gloomily ------- the far corner of the garden.

The preposition to be used here is

A. In B. on
C. into D. of
55.  ------ Is the foundation of democracy.
The correct form of the word to be used here is
A. educate B. education
C. toeducate D. educating

56. If you are writing a letter to the Housing Department to repair, how would you

write the salutation?
A. Respected sir/madam B. Hisir/madam

C.  Dear friend D. Hello sir/fmadam
57. The view of Swami’s father regarding courage was----.
A. the strength and age were more important than courage
B. the courage was more important than strength and age
C. courage was not important
D. only the strength was important
58. Congratulations were showered on Swami because
A. heslept in the office room alone
B. he caught a notorious house breakers of the district
C. he fought with a tiger
D. he won the cricket match
59. “Aiyo! Something has bitten me,” This shout was made by

A. burglar B. Swami

C. servant D. Swami’s father
60. The person one who travels to his work place daily is called as---

A. driver B. commuter

B. passenger D. visitor

61. The doctor at Divine Multi-Speciality Hospital admitted Roma without any paper

work because
A. she was injured seriously

B. it was a private hospital
C. he was experienced to handle this case
D. he was so brave
62. The old man carried a cane which was actually



A. awooden stick B. awalking stick

C. asteelrod D. askeleton of worn-out umbrella
63. According to Don Anselmo the real owners of the trees were

A. the Americans B. the children of Rio en Medio

C. the story teller D. the people of Rio en Medio

64. The 14" Amendment of US constitution gave freedom to
A. Scheduled castes and Scheduled tribes
B. Black people
C. North Americans
D. Black Americans
65. The chairman of the Drafting Committee of our constitution was---
A. Jawaharlal Nehru B. Mahatma Gandhi
C. B.R.Ambedkar D. Rajendra Prasad
66. The policy implemented by the British to strengthen their hegemony over the
Indians was
A. Peace B. divide and Rule
C. peace and food D. conduct the wars
67. Smitha deserves the admiration of the readers because
A. she fulfilled her brother’s desire by requesting Pandith Ravishankar
B. she attended the concert with her father
C. she enjoyed the notes in the concert
D. she composed her own tunes
68. *“ We mustn’t miss the chance” The chance that the boy wouldn’t like to miss was
A. to play sitar
B. to hear and see Pandit Ravi Shankar’s concert
C. to attend table tennis tournament
D. to attend on line music class
69. Satish met with an accident when he was crossing

A. abusy road B. arailway track
C. arickety bridge D. adense forest
70. The bird inspired Satish by its -------
A. restless energy B. singing
C. longish tail D. long neck
71. The doctor took granny’s temperature and suggested to take --
A. medicine regularly B. aweek bed rest
C. care of her health D. care while climbing trees
72. “She called for my father and told him undaunted” Who does she refer to?
A. poet’s mother B. the doctor
C. neighbour D. Grand mother

73. Itdroppeth as the gentle rain from heaven. Upon the place beneath.

What does upon the place beneath refer to?
A. the mercy B. theearth

C. the sceptre D. the sky
74. The quality of mercy is enthroned in -



A. the mind of gods B. the heart of kings

C. the hands of people D. the attitude of children
75. According to V.K.Gokak The right path of life was shown by
A. seers and prophets B. good rulers
C. hard workers D. poets
76.  Sing of the beggar and the leper. Here beggar and leper signify---
A. Dbeauty B. love
B. moral D. poverty and disease
77.  There he stands, see?
Like a black Ancient Mariner------ . The figure of speech employed here
A. irony B. simile
C. personification D. metaphor
78.  Whilst thus------- The appropriate option to complete this line of the poem is

A. my hapless woe
B. Ising, I am aking
C. mind destroy
D. a poor blind boy
79. Mr. Patil, the sub inspector came to Mohan’s house to inform about
A. reward B. police raid
C. his friendship D. marching
80. Life for Haneef in the beginning was never a smooth sail. Because
A. he failed in the exam
B. he failed to join the Indian Army
C. helost his father when he was just eight years old
D. he lost his brother
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41. ‘Self-medication is not good. You should consult the doctor.’
The language function for the above sentence is
A. seeking information B. agreeing

C. request D. advice



42. The word which collocates with ‘rustling’ is
A. waves B. fruits
C. leaves D. shadows
43. The word which has two syllables is
A. school B. consonant
C. father D. clue
44. ‘The children were plucking flowers.’
The passive form of the above sentence is
A. Flowers were plucked by the children
B. Flowers are being plucked by the children
C. Flowers were being plucked by the children
D. Flowers have been plucked by the children
45.He ...ccuuuenennne. in New Delhi for three years.
The appropriate tense form of the verb to be used here is
A. living B. lived
C. lives D. live
46. The appropriate prefix to form the opposite of ‘possible’ is
A.in B.im
C.un D. mis
47. Kutub Minar is a majestic monument.

The part of speech of the underlined word is a/an

A. verb B. adverb
C. adjective D. preposition
48. The meeting was ........ccceeuee.e. due to bad weather.

The correct phrasal verb to be used here is
A. puton B. put up with
C. put off D. put out

49. Greenland is larger than any other island in the world.



The superlative form of the above sentence is

A. Greenland is the large island in the world.

B. No other island is largest than Greenland in the world.

C. Greenland is the largest island in the world.

D. Greenland is largest of the islands.

50. If I had been hungry, I ............c..o.ee.e. eaten something.

The correct words to be used here to complete the ‘if’ clause sentence are

A. wouldn’t have B. shouldn’t have
C. would have D. should have
51. Sanjay is coming tomMOrrow, ........ccccee... ?

The question tag to be used here is

A.Is he B. isn’t he
C. does he D. don’t he
52. We had to wait for ...... hour and ......... half for the bus.

The articles to be used here are

A. a, the B.an, a
C. the, a D.a,an
53. The thieves quarreled ............... themselves.

The preposition to be used here is

A. for B. between
C. among D. after
54.1 bought it .................. I needed it.

The conjunction to be used here is

A. and B. still
C.so D. because
55. The way in which he told the story was $o ....................

The correct form of the word to be used is

A. interested B. interestingly



C. interesting D. interests

56. In a formal letter, ‘Yours faithfully’ is known as

A. salutation B. subscription

C. superscription D. subject

57. ‘Courage is everything. Strength and age are not important.” This remark was made by
A. Swami B. Granny

C. Inspector D. Swami’s father

58. As the night advanced Swami remembered all the stories of

A. adventure B. tiger

C. devils and ghosts D. cricket match

59. ‘A frightful proposition, Swami thought.” The proposition was

A. to sleep alone in the passage

B. to sleep alone in the office room

C. to sleep beside his granny in the passage

D. to sleep under the hall lamp

60. Roma Talreja was a

A. railway employee B. high school dropout

C. call centre executive D. sales executive

61. ‘Take the girl to Airoli,” suggested the cop, ‘there’s a hospital there.’
But Baleshwar disagreed because

A. he knew that hospital lacked personnel and equipment

B. he knew that Airoli was at least 10 kilometres away

C. he was too tired to carry Roma any further

D. he felt the hospital may refuse to take accident victim.

62. ‘I do not like to have you speak to me in that manner.’ This was said by
A. Narrator B. Senator Catron

C. Surveyor D. Don Anselmo

63. The Americans offered to pay almost double the amount to Don Anselmo because



A. the old man agreed to sell both land and his house

B. the land was very fertile

C. the land was much more than eight acres

D. the narrator convinced them to pay more

64. One day the Americans came back to the narrator’s office to complain because
A. Don Anselmo did not allow them to replaster the house

B. the children of the village were overrunning their property

C. everyone spoke to them only in Spanish

D. the fence they had patched was torn down by the villagers

65. ‘They brought about a veritable revolution in social thought.’

Here ‘they’ refers to

A. Dr.Ambedkar and Gandhiji B. Nehru and Gandbhiji

C. Mahatma Phule and Nehru D. Dr. Ambedkar and K.M.Munshi
66. Dr. Ambedkar spent most of his life in

A. purchasing books B. attending conferences

C. reading books D. importing books

67. ‘There’s no harm in trying it,” Smitha said to herself.

Here ‘it’ refers to

A. requesting Pandit Ravishankar to play for Anant

B. convincing the doctors to continue Anant’s treatment

C. taking Anant to the concert

D. requesting Aunt Sushila to let them stay in her apartment

68. ‘Panditji is a busy man. You must not bother him with such requests.’
This was said by

A. Ustad Allah Rakha B. moustachioed man

C. Anant D. Aunt Sushila

69. ‘Why do you take away his source of entertainment?’

This remark was made by



A. Satish’s mother B. brother Inder

C. friend Surender D. Satish’s father

70. The lesson ‘colours of silence’ gives us the message that

A. physical disability is no barrier to success

B. one has to read a lot to get on in life

C. formal education is not important

D. physical disability is a barrier to success

71. The family members of Grandma told her that one should grow old
A. bravely B. disgracefully

C. gracefully D. slowly

72. When Grandma was confined to bed she felt

A. relieved B. miserable
C. happy D. rested
7 TR 0 0] 0 1

The appropriate option to complete this line of the poem is

A. above this sceptered sway;

B. the dread and fear of kings;

C. as the gentle rain from heaven

D. the force of temporal power,

74. In the poem ‘Quality of Mercy’ ‘mightiest in the mightiest’ refers to
A. Sceptre B. Crown

C. Mercy D. Dread

75. In the poem ‘The song of India’ Motherland wants the poet to sing about
A. the seers and prophets B. strikes and class war

C. dams and lakes D. Himalayas and three seas
76. Mother India appeared to be sitting on

A. the peaks of Himalayas B. the beautiful waves

C. the rock-cut temples D. the dams and lakes



77. ‘his wrinkled old face so full of wearies of living’ suggests that the Jazz

player was
A. old and cheerful B. not enthusiastic about life
C. lively but old D. very enthusiastic about life
78. 0 say What «.covinnniiiiiiiiiiiiiiiiiiiiiiiiiinntiiiiinnnesticssensscconnnns

The appropriate option to complete this line of the poem is

A. of wondrous things you see, B. day or night myself | make

C. is that thing call’d light, D. are the blessings of the sight,
79. The ‘mysterious parcel’ that was brought to Mohan’s house contained
A. pamphlets B. cyclostyling machine

C. newspaper D. memorandums

80. Hema Aziz politely refused the Indian army’s compensation offer of

A. a house B. money
C. a petrol pump D.ajob

GOOD -LUCK






